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& 8 15 B Eﬁgﬂ ®E  TFIRA BB O %;ﬁfék iifj’; WH  RB#E
g K B % 11:05 11:15 945 955 | 1000 10:05 10:15 10:25 @ 10:50
= a (‘C) | 215 215 220 210 200 217 213 219 214
K a (‘C) | 214 216 209 206 206 205 209 205 199
= E () 6 6 7 7 9 7 7 14 14
Fia i3 (&) 15 15 15 15 2.5 25 2.0 10 30
pH [l 7.8 7.9 7.9 8.0 7.9 7.9 7.9 7.8 8.2
S | A I G (mg/L) | 89 8.9 9.7 9.4 9.2 9.0 9.2 8.9 10.1
2 5 4 = = o= o= o= YRR sk Tk
R&®E(TON) 10 17 10 13 23 23 10 10 17
TUOETRER (mg/L)| 004 004 003 001 002 004 002 004 002
HHM(EEBRETOC)DR) (mg/L)| 14 1.4 15 15 17 15 15 1.7 18
2E,AZ-A7°4Y' 1) (ng/L) | 50K 50K 50K 50K 50K 50K 50K 50K 50KiH
2EAZ-ThY IT-) (ng/L) | 205K 20K 20K 20K 20K 20K 20K 20K 20KiE
2-2F YK VAT (ng/L) | 2R7 2K 2KE 2 3 2K 2RiEm | 2K 2K
D2 S i S-S (ng/L) | 2Riil = 2XKiih 3 2K 96 21 120 7 4
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